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1.7dd P (E) =0.5J 3T E &J1 S AS=RS AT I ?
If P(E) = 0.5, then find probability of P ( not E ) (1)

2. 3o fBftmii f&d faadintt Aftmr fam wes &t Haes &df d Fat |

which of the following cannot be probability of an event

(a) 2/3 (b) 15 ()15 (d)o.7 (1)
3.yt grei 33
(i) foR foafas weasrdidses _ 31
The probability of an event that is certain to happenis . (1)

(ii) fomt y@ar Einif Aot wesret it Hgreseierag_ 3
The sum of the probabilities of all the elementary events of an experimentis ____ . (1)
4. g ym § g et dfenr e 3 1 4 3 i @ S Asesr uzrad |
A die is thrown once . Find the probability of a number greater than 4. (2)
5. 9aft 3gF &t Iet 52 Ufzmit &t git & e Uz fifomr famr 3 | Hsesr usrad fa e
fdsadzrard= |

A card is drawn from well shuffled pack of 52 cards. Find the probability of getting

not a face card . (2)
6. f¥a &3 &9 3 I® M3 5 a8 diet I | for 48 féd migsa ¥ gie grog &t art 3 |
for &t Haear ot d=dft fa <t arelt aie (i) 3% d= (i) BB ST I=

There are 3 red and 5 black balls in a bag . A ball is drawn at random, find the probability of

getting (i) red ball (ii) not red ball (2)



7. 52 Ufs i € ot 3g7 & 3¢t 3 A gl R R Uiz o e i @ 1 s i § YuS I
S Ages yzTad
(i) ga e d3r (i) e ffe <t gam.
A card is drawn at random from a well shuffled pack of 52 cards. Find the probability of getting
(i) a card of spade (ii) queen of diamond (2)
8. ffaym § f¥a erg Hfenr Afer 3 | HeresT uzTad fa Hftmr
(i) »3 I% (ii) <t T2
A dice is thrown once . Find the probability of getting
(i) a prime number (ii) an odd number (2)
9. faR wesT e IS d HIeE 0.4 I 3T IS &t HIesT U3 &3 |
The probability of happening an event is 0.4. Find the probability of not happening the
event. (2)
10. 20 gagt @ f¥a AT f&d fiag 4 gBg Yag IS | R dga nosades3, o g5y
Y3 de d Agesr ot daft |
A lot of 20 bulbs contain 4 defective bulbs. one bulb is drawn at random from the lot .what
is the probability that bulb is defective ? (2)
11. g €9 2 3w f¥a wifirar ymwr 3 fram @ 2sat €3 Ja fisdd niya nifas Ta:
AB CDEA
ferym § Raeg ffer A d | R dt it Heea I fa (i) AYU3 I2 (i) DYRIS IR |
A child has a die whose six faces shows the letters as given below :
A B C DE A

The die is thrown once. what is probability of getting (i) A  (ii) D. (2)



